(%)
=L =
X n+ %
1. T %4 W FE N A L S T
2. i T 3% pr WAFTHEREYEASTH9 it
3. T 1 BRGNS Af 64 1H SHET

ax At B 2

ENCNEE Y
BRI, BEMOM LB (B L b L NUT TV =L OSE)
cHEROI LB E (B ML otkis, ST 7 —h L DR

[ B/ A
GEPRHNAL S (B AL OUSE . N T 7Y — AL DR

FRCICHED AR AR i T — o Bk i T — X




T INFR A AL S T T RE AR FE R N AR
it (L) & 74,332,500 1
I & 67,575,000 [
M Bl S AH 2 A & 6,757,500 Y




% W AENERM M LBELISE No.
% b i3] = B i 28 &
[ERZARE Xy
| @51 1] K 22,696,378
| EXEE LHE 1] 4,291,517
0| MR T3 1 = 19,634,756
RN X 46,622,651
Hm gy
I meGeE 1] K 2,334,521
0| s 1 = 10,387,562
— R 1 = 8,231,113
Hi@E A 20,953,196
&t 67,575,847
TR TR EI0ET 67,575,000
THE RS Y%A 6,757,500
WA (LEE) 74,332,500




B W

AENERM M LBELSE No. 2
% b i3] 2 Bifg i & ) &
I |BEITS
Al |TLH /N 1 K 10,585,423
A2 |HFBR/ R 1 K 12,110,955

o>

=(11
—

22,696,378




% W EENMERM A LBETS No
£ FR ] E B {iff | &
A1 |EBEINER
1 BRI, ZERO
1-1 [R5 1 K 216,049
1-2 [ERSETEHE 1 KX 1,144,065
1-3 [N e L& 1 K 1,972,207
1-4 |[BIESETEHE 1 KX 23,155
1-5 | 2=y N D2 D T35 1 K 1,560,440
1-6 |fifZs -yt 1 K 825,923
/NeE 5,741,839
2 |H=EHO
2-1 |EEG L5 1 KX 266,816
2-2 [EERKETEH 1 KX 747,319
2-3 |NERE T 1 K 1,902,397
2-4 |BdEE T 1 KX 37,330
2-5 2=y R OO T % 1 X 1,342,360
2-6 |fids -y Er 1 K 547,362
/NG 4,843,584
&t 10,585,423




% BEINERAM 1 LTS No. 4
£ FR ] E B {iff | &
A2 |REBE/INER
1B L 1 KX 434,856
2 [BREYETLE 1 K 2,065,837
3 [PEEekE T 1 KX 4,217,774
4 [BELETLE 1 K 28,381
5 |z=yMOZofM T 1 K 4,048,190
6 |fk-wsE 1 K 1,315,917
&t 12,110,955




£ By FE N A L ol T [FFNER] No.
4 i fii E2) ¥ &\ | BT Bl & K I
BN VNS [ B - H =)

1 |[ExTEE 1-1) AT 5o 1] K 804,407
1-2) 2B My 1] &K 313,140
2 | B ER 1] K 96,800
3 |k SRR E 1 X 1,530
N F 1,215,877

BN VINE S [#=H@D]
1 |ELTR 1-1) BT 43I 1 =X 676,490
1-2) B r My 1] &K 157,500
2 S BEER 1 =X 193,190
N F 1,027,180

WE B/ [ 2EAH ]
1| AT 1-1) EEAT ooz 1] X 1,292,380
1-2) 2t Myl 1] &K 673,280
2 | 13X 77,600
3 | KN 1 =K 5,200
N F 2,048,460
&t 4,291,517




% IV R IA L BGE T No.
% P 14 ik % BT B A & i
I (FAEx D 5
MI-1|FLH/NFERE RO - B PR
1| A Bk 1 =X 2,201,340
2 | KK 1 KX 513,707
3 | HEAKERAH I 1,230,496
4 | HRER R 1 KX 188,636
5 | W AR 1 K 158,510
6 | MELEF 1 KX 380,033
MI1=2| T NS 2@
1| FAas H i 1 =K 1,491,010
2 | KR 1 KX 649,715
3| HEAKERAH 1 K 1,165,560
4 | HRER R 1 KX 163,306
5 | WELE 1 K 332,241
M2 | BNV
1| A Bk 1 =K 4,370,900
2 | KaKER b 1 KX 1,616,874
3| HEAKERAH 1 K 3,618,614
4 | HRER R 1 KX 65,220
5 | B AR 1 X 290,234
6 | MWELEF 1 KX 1,198,360
aEt 19,634,756




